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LA=E ZER0S 29E (el =3
SN CR(EH) - NRAY - BES 0 & 24 p/E-T" HRE2
2t 1,333,949 1,258,355 75,594
= 67,696 67,696 0
Al 79,034 23,834 55,200
- 1,187,219 1,166,825 20,394
Ao NMBEEMHIA HE AE 80,699 79,199 1,500
DH=H ZEROS 29 80,699 79,199 1,500
QA 2FEH| 9,916 8,416 1,500
201 et 9,016 8,416 600
01 AtS 22/l 9,016 8,416 600
O et~ 9,016 8,416 600
O QIRA AUEY otE 7Y o 2l (4A
2dl) 150,000& «12& 1,800 1,200 600
405 AHeHESHI 900 0 900
01 T =S FH SHI 900 0 900
O ZEUIAAU SUHE SHI| S (AAH)
900,000 = 1CH 900 0 900
dAE elZet A= 672,188 616,594 55,594
= 67,696 67,696 0
Al 55,200 0 55,200
- 549,292 548,898 394
2301gt 2= 295,864 240,270 55,594
= 67,696 67,696 0
Al 55,200 0 55,200
T 172,968 172,574 394
CHISAMSI101 & E3S/W = 120,097 64,503 55,594
Al 55,200 0 55,200
- 64,897 64,503 394
405 KHoHESHI 86,097 30,503 55,594
Al 55,200 0 55,200
- 30,897 30,503 394
01 T =S H SHI 86,097 30,503 55,594
© PC=H RS (MEFEIL &AIHHI)
2 & 970,000 +87CH+1.0055 84,855 29,261 55,594
Al 55,200 0 55,200
- 29,655 29,261 3%
BSMAILL D&t 333,421 314,921 18,500
ESHAE 2 & QEZe 2E 330,235 311,735 18,500
FESUANE 29 306,235 287,735 18,500
405 AHoHESHI 19,100 600 18,500
01 MHARESFSH 19,100 600 18,500
O ZEUAAU ZEIOICIH FHAAAR +
2 (AtARH]) 18,500,000 *1CH 18,500 0 18,500




